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=50.24 + 14 = 64.24( cm)
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(FH9] 7t= 9] Fol)

= (W] Yo])+ (&0])— 351.68 + 8 = 43.96 (cm)
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(FHY 7129 Fo))+ (dF&)+2

43.96 + 3.14 + 2 = 7(cm)
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o) = (Hulo]) x2+ (FHo°l)

967.12 = 153.86 x 2 4 7 x 2 x 3.14x (¥&°])
= 307.72 + 43.96x (=°])

(%=°1)= 659.4 + 43.96 = 15( cm)
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(9% Y75 Bu]) =12x12x3.14%6

— 2712.96( cm?)
(LEZ Y759 Bo) =7x7x3.14%x 15
= 2307.9(cm?)

w7 475 Ful o] A=
2712.96 — 2307.9 = 405.06(cm?)
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5™ ZorsUTE o] dAIEF o] Bylol= 2
m? YUY 7F?
\
5cm
/
» E: cm?
> =g 717.12cm?

B
(AA=B Dyl

= (27159 2Eel) + (H=aAe] dHel)
=(8Xx8x%x3.14x2+16x%x3.14x5) +(4x4x4)
= (401.92 + 251.2) + 64 = 717.12(cm?)
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~-10cm -t 5cm|
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(2 97159 §HA8)= 15cm
(2 ¥7159 H1) =15x15%x3.14x 10
= 7065( cm?)
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(e 97152] WA E)=5em
(Fr2 47159 B]) =5x5x3.14%x 10

= 785(cm?)
(FAR YA =g ] F1]) = 7065 — 785= 6280( cm?)
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[> ®EFD 13.68cm
(99 712) = (A< 9] Eo] Ho))
= (99 AF) x3.14
(U O] 2] 5)=37.68 + 3.14 = 12(cm)
(27159 =0])= 37.68 — 12 — 12 = 13.68( cm)
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A7) RO LR EHre] Agol)
=(5x5%x3.14)x2+ (5x2x3.14) x5
= 157 + 157 = 314(m?)

(P23t HQE 9F)= 314 + (2x2) = 78.5(L)
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(B¥el)=(ZHol)x 2+(F4°l)

1130.4 = 254.34 x 2 + 9 x 2 x 3.14x (&©

508.68 + 56.52x (=°])= 1130.4
56.52x(¥=°]) = 621.72
(3°]) = 11(cm)
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(6x6x3.14%x8)—(2x2x3.14x8)
= 904.32 - 100.48
= 803.84(cm3)




17. dyol7t 141.3cm? ©] 1,
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(7h 259 ¥ 6x 6 x 3.14 X 15 = 1695.6( cm?)
(th) %% DY) 9x 9 x 3.14 = 254.34( cm?)
7h 289 2 (W) 259 F2od 29 &ol&=
1695.6 + 254.34 = 6.66--- — 6.7(cm)
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=
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(4555 1709 2yo])
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= B

=10x10x3.14 x
(A 22 )
=785 % (12 + 14 + 23 + 25) = 5809 ( cm?)
(Zreto] A& & 2o o))

= 5809 + (10 x 10 x 3.14)

= 5809 + 314 = 18.5(cm)
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= (10 x 10) — (3 x 3 x 3.14)

=100 — 28.26 = 71.74( cm?)
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(H2r o] gRae) Hol)+(917152) @wel Wol)
= (10 x 4 % 20) + (6 x 3.14 x 20)

=800 + 376.8 = 1176.8( cm?)

(BHol) = (3F 2H9] Wol)x2+ (FHol)

= T1.74 x 2 + 1176.8 = 1320.28( cm?)
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=(1x1x314+1x1x12)x5
=15.14 x 5 = 75.7( cm?)
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(7t A= (FolX 47159 AF)x4.5

34|, 227t A= §HAF9 dol7t 15em 9 Y] Y59
1.5 =9 Aoldyrt. wethA

(Z27F Ag])= (15 x 2 x 3) x 1.5 = 135( cm)

EF, (71 o] vE 2 9] A 2] Aol & [ |} i,

135 = ([_]x2x3) x 45 oA

[ ]x27 =135 [ ]=5(cm)

(7h 9] Fu]) = (A ¥x] 52| Zo]7}5em, &0]7F 20 cm 9
Y715 Fof)- (RH9| ¥1x] 52 4ol7} 4cm, E°17F 20cm
Ql ¥7]5 <] Fu)

={(5x5x3)x20} — {(4x4x3)x20}
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(RAZe) 247te] 37)
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ELED
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—
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=36x3.14x —— + 81 .14
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(ko] Fa])+(7he] Ha))— (3187t Bl
=6X6%x314%x3+3%x3x314x3-1%x1x3.14%X6
= 339.12 + 84.78 — 18.84 = 405.06( cm?)
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(4x4%x314%2)+ (4%x3.14x3+8x%x3.14x3)
=100.48 + 113.04 = 213.52( cm?)




